Lamar County	Lamar County Board of Staff Recommendation	Commissioners	
Project:	TSPLOST Project	Location(s): Public Works/ Roads	
Funding Source(s):	General & TSPLOST	Fund(s): 100 & 322	

# 22-12-02 - 2023 Microsurfacing Project

Companies	Aspha	lt Paving Systems	The S	cruggs Company		
Road Improvements	\$	2,341,138.80	\$	2,510,426.52		
	\$	2,341,138.80	\$	2,510,426.52	\$	
Staff Recommendation:	The Staf	f, Public Works and H	XP reco	mmends Asphalt Pav	ing Systems at \$2,341,138.8	30.

Notes:

•



January 11, 2023

Sean Townsend Lamar County 408 Thompson Street, Suite E Barnesville, GA 30204

Re: FY 2023 Lamar County Phase 1 for Street Rehabilitation and Microsurfacing Various Roads Contract Award Recommendation for 22-12-01 and 22-12-02

Dear Sean:

Reference is made to the bids opened on January 10, 2023, held in Barnesville at 408 Thompson Street of the above projects which included sealed bids submitted by seven (7) contractors (5 were submitted for 22-12-01 – Street Rehabilitation contract ranging from \$1,197,852.85 to \$1,363,567.50 and 2 were submitted for 22-12-02 – Mircosurfacing construction for \$2,341,138.80 and \$2,510,426.62). EXP has reviewed bid documents of all packages submitted to ensure that all were complete and in accordance with requirements of bid advertisements. EXP has also compared the submitted bids with our engineer's estimate for both projects.

All bids received were complete with Bid Schedule, Bid Bond, Representation, Oath, Acknowledgement of Addendum and Georgía Security and Immigration Compliance Act and were within reasonable range of the engineer's estimate for both projects.

Based on our review of contractors, bid packages and review of engineer's estimate it is our recommendation to award with the respective low bidders 22-12-01 for FY 2023 – Street Rehabilitation Project to C.W. Matthews with a submitted bid of \$ 1,197,852.85 and 22-12-02 for Microsurfacing of Various Lamar County Roads to Asphalt Paving Systems (APS) with a submitted bid of \$2,341,138.80.

Sincerely,

**Ritchie Swindell** 

# ROUTES: Cauthen, Cook, Heavy, Van Buren, Bush, Johnstonville, Five Points, Country Kitchen and Brook Roads

### COUNTY: LAMAR

	DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)					
ITEM NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Total	
150-1000	TRAFFIC CONTROL -	LS	1	131,300.00	131,300.00	
424-5090	SINGLE SURFACE TRTMT STN SIZE 89, GP 1 OR 2	SY	364,888	2.00	729,776.00	
428-1000	MICRO-SURFACING, TP II	SY	375,835	3.46	1,300,389.10	
429-1000	RUMBLE STRIPS	EA	9	825.00	7,425.00	
652-2501	SOLID TRAF STRIPE, 5 IN, WHITE	LM	60.50	1,320.00	79,860.00	
652-2502	SOLID TRAF STRIPE, 5 IN, YELLOW	LM	42.22	1,320.00	55,730.40	
652-3502	SKIP TRAF STRIPE, 5 IN, YELLOW	GLM	11.34	770.00	8,731.80	
653-0100	THERMOPLASTIC PAVMT MARKING, RR/HWY CROSSING SYMBOL	EA	3	650.00	1,950.00	
653-0210	THERMOPLASTIC PAVMT MARKING, WORD, TP 1 (STOP AHEAD)	EA	1	275.00	275.00	
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF_	300	11.55	3,465.00	
654-1001	RAISED PAVMT MARKERS TP 1	EA	3436	5.50	18,898.00	
654-1002	RAISED PAVMT MARKERS TP 2	EA	607	5.50	3,338.50	
	· · · · · · · · · · · · · · · · · · ·					
	· · · · · · · · · · · · · · · · · · ·	<u> </u>	<u> </u>			

#### DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)

Contractor Name: Asphalt Paving Systems, Inc.

Total Bid Price: \$2,341,138.80

# ROUTES: Cauthen, Cook, Heavy, Van Buren, Bush, Johnstonville, Five Points, Country Kitchen and Brook Roads

# **COUNTY: LAMAR**

	DETAILED ESTIMATE with Contractor Bid (Unit P			Unit	
ITEM NO.	DESCRIPTION	UNIT	QUANTITY	Price	Total
150-1000	TRAFFIC CONTROL -	LS	1	255,000.00	255,000.00
424-5090	SINGLE SURFACE TRTMT STN SIZE 89, GP 1 OR 2	SY	364,888	1.67	609,362.96
428-1000	MICRO-SURFACING, TP II	SY	375,835	3.97	1,432,064.95
429-1000	RUMBLE STRIPS	EA	9	862.69	7,764.21
652-2501	SOLID TRAF STRIPE, 5 IN, WHITE	LM	60.50	1,116.43	67,544.01
652-2502	SOLID TRAF STRIPE, 5 IN, YELLOW	LM	42.22	1,116.43	47,135.67
652-3502	SKIP TRAF STRIPE, 5 IN, YELLOW	GLM	11.34	558.21	6,330.10
653-0100	THERMOPLASTIC PAVMT MARKING, RR/HWY CROSSING SYMBOL	EA	3	558.21	1,674.63
653-0210	THERMOPLASTIC PAVMT MARKING, WORD, TP 1 (STOP AHEAD)	EA	1	507.47	507.47
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	300	15.22	4,566.00
654-1001	RAISED PAVMT MARKERS TP 1	EA	3436	4.57	15,702.52
654-1002	RAISED PAVMT MARKERS TP 2	EA	607	4.57	2,773.99
				<u> </u>	
					ļ

#### DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)

Contractor Name: The Scruggs Company

Total Bid Price: \$ 2,510,426.52